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Multiple Choice Questions

Chapter Five

Food, Nutrition and Digestion

INGINE : ...ttt ettt et Date: ...
Class :IX Subject: Biology
1. How many inorganic nutritional elements have ii. Magnesium
been identified in plants? iii. Phosphorous
a) 16 b) 20 Which one is correct?
c) 40 d) 60 a) iandii b) iand iii
2. How many nutrients are essential for the c) iiandiii d) i, iiand iii
normal growth of plants? 11. Which one helps a plant to absorb water?
a) 16 b) 20 a) K b) P
c) 40 d) 60 c) Fe d) Mn
3. How many essential nutrients are called 12. Phosphorous is the structural component of—
macronutrients? i. ATP
a) 10 b) 16 ii. DNA
c) 20 d) 60 iii. RNA
4. Macronutrient includes— Which one is correct?
i. Carbon a) iandii b) iand iii
ii. Magnesium c) iiandiii d) i, iiandiii
iii. Molybdenum 13. Which one is essential for the elongation of
Which one is correct? roots of plant?
a) iandii b) iandiii a) K b) P
c) iiand iii d) i, iiand iii c) Fe d) Mn
5. How many essential nutrients are called 14. Which one plays role in the formation of
micronutrients? chlorophyll?
a) 5 b) 6 a) B b) Cu
c) 10 d) 20 c) Fe d) Mo
6. Micronutrient includes— 15. Which one is necessary for the growth of root
i. Chlorine and stem of sugar beet?
ii. Phosphorus a) B b) ClI
ili. Manganese c) Fe d) Mo
Which one is correct? 16. Chlorosis occurs due to the deficiency of—
a) iandii b) iand iii i. Iron
c) iiand iii d) i, ii and iii ii. Nitrogen
7. Which element is absorbed by plants from iii. Manganese
atmosphere? Which one is correct?
a) C b) N a) iandii b) iand iii
c) H d) Cl, c) iiandiii d) i, iiandiii
8. The nutrients that plant can absorb as ionic 17. Due to the deficiency of what does leaf turn
form— into purple?
i K a) P b) K
ii. Mg?* c) Cl d) Mg
iii. NH* 18. Necrotic spot is developed due to the
Which one is correct? deficiency of—
a) iandii b) iand iii i. Potassium
c) iiand iii d) i, iiand iii ii. Phosphorus
9. Which one is an essential element of nucleic iii. Magnesium
acid? Which one is correct?
a) lIron b) Chlorine a) iandii b) iand iii
c) Nitrogen d) potassium c) iiandiii d) i, iiandiii
10. Essential elements of chlorophyll— 19. Due to the deficiency of what is the initiation
i. Nitrogen of floral bud obstructed?
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a) B b) S

c) ClI d) Mg
Energy producing food—

i. Fat

ii. Protein

iii. Carbohydrate

Which one is correct?

a) ii b) iii

c) iandiii d) i, iiand iii

Which food element enhances the rate of
chemical reactions?

a) Fat b) Protein

c) Vitamin d) Carbohydrate
The elements present in protein besides
nitrogen—

i. Iron

ii. Sulphur

iii. Phosphorus

Which one is correct?

a) i b) ii

c) iiandiii d) i, iiand iii

What is the percentage of nitrogen in protein?
a) 10% b) 16%

c) 18% d) 20%

Which one is the not source of protein?

a) Nut b) Pulse

c) Mustard d) Been seed

The sources of polysaccharide—

i. rice

ii. sugar

iii. potato

Which one is correct?

a) iandii b) iandiii

c) iiand iii d) i, iiand iii
Which one is not the source of

monosaccharide?

a) Milk b) Honey

c) Apple juice d) Mango juice
Which one remains in stomach for a long
time?

a) Rice b) Fish

c) Pulse d) Egg yolk

What is the daily requirement of fat for a
healthy person?

a) 20-30 gm b) 30-40 gm
c) 40-50 gm d) 50-60 gm
How many types of vitamins are there?
a) 2 b) 3

c) 4 d 5

Which one is not a fat soluble vitamin?
a) B b) D

c) E d K

Source of vitamin E and K—

i. liver

ii. mola fish
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40.

41.

iii. dairy products

Which one is correct?

a) ii b) iii

c) iiandiii d) i, iiandiii
Observe the following stem and answer the
question nos. 32 and 33.

Vitamin | Sources of vitamins
P Carrot
Q Fish oil
R Pineapple
S Dairy products

Which one is water soluble vitamin?

a) P b) Q

c) R d S

The symptoms of the disease due to the
deficiency of 'S'—

i. weakening of the bones

ii. everything seems to be hazy

iii. density of haemoglobin is less

Which one is correct?

a) i b) i

c) iiand iii d) i, iiandiii
Which one is not the source of vitamin B?
a) Peas b) Red ata

c) Fish ail d) Husking rice
Mineral salts play role in—

i. nerve impulse

ii. muscle contraction

iii. keeping balance of acid and base
Which one is correct?

a) iandii b) iand iii

c) iiandiii d) i, iiandiii
Which one is the source of calcium?

a) Meat b) Pickle

c) Apple d) Small fished
Which one is the source of iron?

a) Milk b) Pulse

c) Aurum leaves d) Sea weeds

Phosphorous is obtained from—

i. milk

ii. pulses

iii. banana

Which one is correct?

a) i b) iandii

c) iiand iii d) i, iiandiii
Which food does not contain potassium?
a) Curd b) Pulses

c) Banana d) Potatoes
What percent of body weight is water?
a) 40-50% b) 45-50%
c) 50-60% d) 50-65%
Roughage is—

i. skin of fruits
ii. lignin of cell wall
iii. cellulose of cell wall
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Which one is correct?

a) ii b) iii

c) iiandiii d) i, iiand iii
Who cannot digest cellulose?

a) Cow b) Man

c) Goat d) Buffalo

Which one is at the apex of an ideal food
pyramid?

a) Bultter b) Pulses

c) Bread d) Vegetables

The matters are to be considered at the time of
preparing a balanced food chart—

I. person's sex

ii. presence of adequate protein

ili. knowledge regarding weather and climate
Which one is correct?

a) ii b) iandii

c) iiand iii d) i, iiand iii

What amount of fish has a hard working adult
male to be taken daily?

a) 10gm b) 20 gm

c) 30gm d) 40gm

Hundred grams of which food contains more
calorie energy?

a) Gram b) Mutton

c) Chicken d) Hilsha fish
Observe the following stem and answer the
question nos. 47 and 48.

Rasheda has come to Lions Eye Hospital,
Dhaka from North Bengal with his 5 years old
son who cannot see at night. She, herself is
also a patient of enlargement of throat.

Which vitamin deficiency problem is the
problem of the son of Rasheda?

a) A b) B

c) C d) D

The reasons of Rasheda's problem—

i. taking of less fruits

ii. deficiency of iodine in food

iii. less iodine in the soil of her region

Which one is correct?

a) ii b) iandii

c) iiandiii d) i, iiand iii

Which vitamin is essential for the absorption
of calcium and phosphorous?

a) A b) B
c) D d) E
Which vitamin deficiency problem is rickets?
a) A b) D
c) E d) K

The symptoms of rickets—
I. weakening of bones

ii. swelling of the joints

iii. bending of the bones
Which one is correct?
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a) iii b) iandii

c) iiandiii d) i, iiandiii
Basically what deficiency disease is anemia?
a) lIron b) lodine

c) Calcium d) Sodium

Who has less possibility of suffering from
anemia?

a) Men b) Women

c) Children d) Pregnant mother
Anemia occurs due to the deficiency of—

i. iron

ii. folic acid

iii. vitamin B-12

Which one is correct?

a) i b) iandii

c) iiandiii d) i, ii and iii

On how many factors does the requirement of

energy for a person depend?

a) 2 b) 3

c) 4 d) 5

The demand for calorie depends on—
i. body growth

ii. physical condition
iii. weather and climate
Which one is correct?

a) i b) iandii

c) iiand iii d) i, iiandiii

One food calorie = what kilojoules?

a) 24 b) 4.2

c) 4.7 d) 7.2

Which one contains only one nutrient?

a) Egg b) Milk

c) Sugar d) Guava

Which one has calorie value?

a) Fat b) Water

c) Vitamins d) Mineral salts
How much calorie does two gram fat have?
a) 4 b) 8

c) 9 d) 18

What is the usual calorie demand of an adult?

a) 1500-2000 b) 2000-2500
c) 2500-3000 d) 3000-3500
Body mass index indicates—

i. the presence of fat

ii. the structure of the body

iii. the amount of carbohydrate

Which one is correct?

a) ii b) iandii
c) iiandiii d) i, iiand iii
Who invents the formula of determining the

BMR value?

a) Margulies b) Johan Mendel

¢) Harris Benedict  d) Thomas Malthus
The value of BMR depends on—

i. food habit
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ii. sex and age

iii. body structure

Which one is correct?

a) ii b) iandii
c) iiand iii d) i, iiand iii

What percent of energy production in our
body does BMR controls?

a) 40-50% b) 45-50%

c) 50-60% d) 60-70%

What percent of energy does our body get
from taking food?

a) 10-12% b) 10-15%

c) 10-18% d) 10-20%

What percent of energy does our body get
through physical activities?

a) 10-20% b) 20-30%

c) 30-40% d) 40-50%

Which BMI value indicates the first stage of
obesity?

a) 18.5-24.9 b) 25-29.9

c) 30-34.9 d) 35-39.9

Observe the following stem and answer the
question nos. 69 and 70.

Name of the students BMI Value

Akib 18.5-24.9
Nokib 25-29.9
Rakib 30-34.9
Sakib 35-39.9

Who possesses good health?

a) Akib b) Nokib

c) Sakib d) Rakib

Sakib has to

i. take doctor's advice

ii. do exercise regularly

iii. take moderate amount of food

Which one is correct?

a) iandii b) iand iii

c) iiandiii d) i, iiand iii

Which one is not approved chemical for food
preservation?

a) SO, b) CH,O

C) NaNO3; d) C;HsNaO,
Sorbet includes—

i. K

ii. Na

iii. Ca

Which one is correct?

a) iandii b) iandiii

c) iiandiii d) i, iiand iii
The Romans used water containers made of—
a) lron b) Gold

c) Lead d) Silver
Which one makes the food slippery?
a) Mucin b) Pepsin

c) Ptyalin d) Lipase

75.

76.
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Salivary glands are located—
i. below the ear

ii. below the tongue

iii. at the side of the jaw
Which one is correct?

a) iandii b) iand iii

c) iiand iii d) i, iiandiii

Which teeth are used for tearing and grasping?
a) Molar b) Canine

c¢) Incisor d) Premolar

By what does the tooth get attached with gum?
a) Pulp b) Enamel

c) Cement d) Dentine

Enamel is composed of—

i. fluoride

ii. calcium carbonate

iii. calcium phosphate

Which one is correct?

a) i b) ii

c) iiand iii d) i, iiandiii

Which one of tooth contains blood vessels?

a) Pulp b) Enamel

c) Cement d) Dentine

Which one is not the part of small intestine?
a) lleum b) Rectum

c) Jejunum d) Duodenum

What is called the finger like projection of the
inner wall of intestine?

a) Villi b) Cortex

c) Medula d) Capsule

Which one is not the part of large intestine?

a) Anus b) Colon

c) Rectum d) Caecum

What is the name of the enzyme that salivary
juice contains?

a) Lipase b) Ptyalin

c) Trypsin d) Amylase

Salivary juice contains—

i. water

ii. mucin

iii. ptyalin

Which one is correct?

a) ii b) iii

c) iiand iii d) i, iiandiii

How many incomplete lobes are there in liver?
a) 2 b) 3

c) 4 d) 6

Where is bile produced? In—

a) Liver b) Intestine

c) Pancreas d) Gall bladder

Bile is—

i. alkaline

ii. bitter taste
iii. deep brown in color
Which one is correct?
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a) i b) iii

c) iandii d) i, i and iii
Which one is not the ingredient of bile?
a) Water b) Bile salt

c) Glycogen d) Cholesterol
Excessive amino acid is taken to the—
a) Liver b) Kidney

c) Pancreas d) Gall bladder
Observe the following figure and answer the
question nos. 90 and 91.

Which one is digested in 'A' marked part of
above figure?

a) llish b) Rice

c) Ghee d) Peanut

The wall of 'B' marked part of above figure is
composed of—

i. involuntary muscle

ii. simple epithelial tissue

iii. columnar epithelial tissue

Which one is correct?

a) iii b) iandii

c) iandiii d) i, iiand iii

Which one is not secreted by pancreas?
a) Pepsin b) Insulin

c) Trypsin d) Glucagon

Pancreas—

I. maintains water balance

ii. controls body temperature

iii. maintains acid-base balance

Which one is correct?

a) iii b) iandii

c) iiand iii d) i, iiand iii

Which acid is secreted in the stomach for
killing the germs coming with food?

a) HCI b) HNO;

C) H,SO4 d) H3PO4

Which one converts inactive pepsinogen into
active pepsin?

a) Bile b) HCI

c) Saliva d) Trypsin
Which one breaks carbohydrate?

a) HCI b) Pepsin

c) Trypsin d) Amylase
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Where is fat digested? In—

a) Mouth b) Stomach

c) Caecum d) Duodenum
Acidic chyme becomes neutralize by—
i. bile

ii. intestinal juice

iii. pancreatic juice

Which one is correct?

a) i b) iandii

c) iandiii d) i, iiandiii

Which one emulsifies fat into fat droplets?

a) Bile b) Lipase

c) Trypsin d) Amylase
Where is digestion not occurred? In—

a) Mouth b) Stomach

c) Caecum d) Duodenum
Dyspepsia causes due to—

i. diabetes

ii. depression

iii. infection in stomach
Which one is correct?

a) iii b) iandii
c) iandiii d) i, iiandiii
Which one is not a symptom of dyspepsia?

a) Sour belch

b) Abdominal flatulence

c) Feeling a full stomach

d) Pain in lower abdomen

Dysentery is caused by the infection of—
i. Shigella

ii. Pseudomonas

iii. Entamoeba histolytica

Which one is correct?

a) iii b) iandii
c) iandiii d) i, iiandiii

What is the name of the germ of diarrhoea
a) Bacillus b) Shigella

¢) Rota virus d) E. histolytica
Constipation occurs due to—

i. leading lazy life

ii. intestinal disorder

iii. food containing roughage

Which one is correct?
a) itandii

c) iiandiii

b) iand iii
d) i, iiandiii
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